



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	N Greeshma	Class	VI - D
Father Name	Gangadhar	Roll #	4
Address	Borgaon		

C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	2.0	3.0	3.0	4.0	12.0	60.0%	B1	8.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	4.0	5.0	4.0	4.0	17.0	85.0%	A2	9.0
MATHEMATICS	20.0	4.0	5.0	5.0	3.0	17.0	85.0%	A2	9.0
GENERAL SCIENCE	20.0	2.0	3.0	3.0	3.0	11.0	55.0%	B1	8.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	3.0	17.0	85.0%	A2	9.0

Total Mark - 94.0/120.0	Overall Percentage - 78.33%	Grade - B1	Grade Point - 8.0
-------------------------	-----------------------------	------------	-------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	P Harsha Sri	Class	VI - D
Father Name	Santosh Kumar	Roll #	7
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 120.0/120.0	Overall Percentage - 100.00%	Grade - A1	Grade Point - 10.0
--------------------------	------------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	E Manaswee	Class	VI - D
Father Name	Srinivas	Roll #	11
Address	Binola		

C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 116.0/120.0	Overall Percentage - 96.67%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	K Sai Sahasra	Class	VI - D
Father Name	Madhukaran	Roll #	15
Address	Veeranna Gutta		

C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 118.0/120.0	Overall Percentage - 98.33%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	E Revanth	Class	VI - D
Father Name	Sailu	Roll #	29
Address	Rampur		

C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	4.0	5.0	4.0	18.0	90.0%	A2	9.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 114.0/120.0	Overall Percentage - 95.00%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	V Sricharan	Class	VI - D
Father Name	Naveen Kumar	Roll #	36
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 115.0/120.0	Overall Percentage - 95.83%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	M Sriram	Class	VI - D
Father Name	Narsaiah	Roll #	37
Address	Navipet		

C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	4.0	5.0	4.0	16.0	80.0%	A2	9.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 111.0/120.0	Overall Percentage - 92.50%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

Report Card - FA4

A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

B) Student Information

Student Name	D Tejith	Class	VI - D
Father Name	Sainath	Roll #	40
Address	Nandigaon		

C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	4.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 115.0/120.0	Overall Percentage - 95.83%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0